Binary Logistic Regression: Transfat versus American, Bakery, ... 

Link Function: Logit


Response Information

Variable  Value   Count
Transfat  1        1915  (Event)
          0      501027
          Total  502942


Logistic Regression Table

                                                  Odds     95% CI
Predictor       Coef    SE Coef        Z      P  Ratio  Lower  Upper
Constant    -5.65431  0.0303005  -186.61  0.000
American    0.294912  0.0518660     5.69  0.000   1.34   1.21   1.49
Bakery       1.07026  0.0832544    12.86  0.000   2.92   2.48   3.43
Indian     -0.541111   0.252082    -2.15  0.032   0.58   0.36   0.95
Japanese    -1.58399   0.303138    -5.23  0.000   0.21   0.11   0.37
Korean     -0.698141   0.317950    -2.20  0.028   0.50   0.27   0.93
Italian    -0.479734   0.144781    -3.31  0.001   0.62   0.47   0.82


Log-Likelihood = -12457.224
Test that all slopes are zero: G = 244.251, DF = 6, P-Value = 0.000

* NOTE * No goodness of fit test performed.
* NOTE * The model uses all degrees of freedom.


Measures of Association:
(Between the Response Variable and Predicted Probabilities)

Pairs          Number  Percent  Summary Measures
Concordant  346544980     36.1  Somers' D              0.15
Discordant  199208923     20.8  Goodman-Kruskal Gamma  0.27
Ties        413712802     43.1  Kendall's Tau-a        0.00
Total       959466705    100.0
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